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73+12= 85 M 25+14= 39
E 72-21= 51

84-21=63
54 +24= 78
34+62= 96
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H332MI_SCI
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1) 32:8=4 (Mm.)
2)24 :4=6 (c.)

OTBeT: 6 cBUTEpOB MOXHO CBA3aTb U3
24 TaKux Xe MOTKOB.
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717 —100% - «5»

B3anmMonpoBepka

6/7 — 86% - «4»
1B 2B

5/7T — 71% - «4»
1.1 1.1
417 — 57% - «3» 2.T 2.T
3.0 3.B

3/7T —43% - «3»
’ 4.0 4.0
2/7 — 28% - «2» 5.a 5.1
6.0 6.0

1/7 — 14% - «2»
’ 7.6 7.r1




[JomallHee 3agaHue
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V7, PewuTe ypaBHEHUs

x+23=58 X-4=12 16:x=4
x=58-23 x=12:4 x=16:4
xX=35 x=3 x=4

35+23=58 3:4=12 16:4=4
58=58 12=12 4=4




CpaBHU, ecnii BOSMOXHO
30cm = 3am 2M > 16am

30kr > 3kr 52n > 25n

1amM4cm < 41cm




